
Signs
Name : ..................................................................................  Class : ..............................

Score : ...............................................................................................

2 2 = 4
2 1 = 1
5 2 = 10
5 5 = 10
3 5 = 8
8 2 = 4
4 2 = 2

Insert the correct sign in the boxes below 
x + _ .
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Signs
Name : ..................................................................................  Class : ..............................

Score : ...............................................................................................

2 2 

Objective : Getting familiar with signs 

= 4
2 1 = 1
5 2 = 10
5 5 = 10
3 5 = 8
8 2 = 4
4 2 = 2

Insert the correct sign in the boxes below 
x + _
x

Answers

_
x
+
+
.
.

.
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